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1 MmOz g S1kkskkkk()8 2
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3 F0O7 g N1kkkkkx (6 £,
4 O4r g N1 kkkkkkg4 Lt
5 Qi 7 L1k 7T L
6 0% g N1Hskkkkk() 4 L4
7 EQO= g N1k ()7 L
8 FOx . N2k k%26 L4
9 HO= g K1 %kkkskkq 7 5 F,
10 £ OiG g T1kkxkkkkq | L F,
11 Q% g N1 kskskskkk() ) 2,
12 % (OIx g N1 kKX 76 L #,
13 FHOM g N1 kskkkk8 () L4
14 HOH = N2¥kokkkk2() L #,
15 mO% g N1 kkkokkk34 £ F,
16 WO 4 L F2xskkskxk()4 L #,
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20 HO % A N2kskskkkk3() 2,
21 B ORE g B1kkkkkk(Q 5 F,
22 ENQLi A g K1 kkxxkkQ8 L F,
23 ENOEs g K1 kkkkekok84 5 F,
24 21 OMg g M1 kkkkkx26 £,
25 O 3 NIxk%H%X] 9 & ¥
26 EOiE g N1 kkokskekkG2 £,
27 OB & N2kskkskskk()3 2 %,
28 O g NT¥kkkkk3() &
29 10z g N1 kkkokkkq 4 &,
30 E=OR g N1 skskokskekok] 7 £,
31 RAQE: 7 N1kkkkxx9Q 7 L
32 FEO% L N2%kkkskkx()9 £,
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36 s O% = N2kskskskskk 65 7L
37 & OB & N2XKkxk%92 o
38 2O g N1 kkkkxkk94 £,
39 + O 7 Nksokkokkq | L
40 AQYS L B2xkkkkx g9 L F,
41 'O g N1 kskkkkk81] 5 F,
42 AO% g T1xkkkkxg5 £,
43 2 Ot ~ D2kskskkkk59 2t
44 2O & N2kkskkkkQ7 2 4,
45 5 O g N1kkskskskk7 2t
46 ¥ OF g N1 kskkskekk94 £,
47 20Ox . N2kskskskkk93 2t
48 k(O L Q2%xkkkk55 £ F,
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51 FOE * N2kkkkkk6 6 £,
52 O g N1skkkskekk48 £+,
53 CAQL g N1kskokkekk()3 L #,
54 2 O g B1¥kkkik24 o
55 F O g D1 kkkkkq9 7 L
56 LOFr g N1ksokskekk()3 £,
57 HO = . N2k 8 ) L
58 O & A2%skkkkokq | £,
59 20% e L 2%kxkxkkk] 4 &,
60 + O L Q2%kkckkkg 7 £,
61 er= 2 U2k 62 2t
62 i Ot 7 N1Xkkkkkqq &t
63 10% L N2skkkskekk 1 3 % L
64 wORF * N2skkkskkk58 3 4
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69 20% = X2%kkkk%59 L
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71 mOH g N1kskkkekkn 5 £
12 T O & E2%kkkkk4 6 £,
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